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Class notes by Aditya Ra




Concept of Symmetry




1.

or all govt. exz | BYADITYA RANJAN SIR

1+ y°
If xy+ yz+ zx=1, then (x+y)(y+z) =7
(a) O ] 1
(c) 2 (d) 3
L IRV gnd 14 - ¢
= 14l
! 3



DURK or all g¢ PX3 » BY ADITYA RANJAN SIR

2. Ifx*+y*+ 2°=xy+ yz+ zxthen the value of
LSact” 3x* +7y"* +52°
ISae™ 5xX°Y° + Ty’ z* + 32°x* »
(a) 2 N

(c) O (d) -1




MATHSEI): pr all g¢ pXd » BY ADITYA RANJAN SIR

a+c
3. Ifa?+b*+c?*=ab+ bec + cathen b is

(a) O b~ 2

(c) 1 (d) -1 e

22&
r



BY ADITYA RANJAN SIR

4y-3 4z -3
+ = 0 then
y Z
XxY ]
b
(b) 3
(d) 6



o

2+a

a

+

2+b

b

. (ab + bc + ca)

(a) 2

(c) O

abc

+

is ag®¥ ~ Q

BY ADITYA RANJAN SIR

2+c

1
& 3

3 = 4 then the value

ﬁ -_’3.‘-'-%-.\

2

(b)




0.z b=C
‘X-I-?JQQ X3 =0 6.
Q0
%+30*=0

or all g¢ PX3 » BY ADITYA RANJAN SIR

- x+a®+2c* . x + b* +2a* . x+c* +2b*
b+c c+a a+b

= 0, find(X)
B @+ B + 220" {b) (@ + B? + ) -3z

e @@+ 2P + 2 (d) @+ 2B + ) -2
dAqQz




BY ADITYA RANJAN SIR

x - ¢*

i " x - b*
{
; ¢’ +a’

value of x.

+ 2 a? 3, find the

(@) @+ B - \(by @+ b? + ¢2

(c) @ - b? - &

(d) a® + b?




MATHSRE«:

AA=0=¢C

/P/a”/—)az

A0 XD
Q”'(q )

= zxeZ’ 74

J]
=

or all govt. exz BY ADITYA RANJAN SIR

If bc + ca + ab = abc then

b+c . cta . a+b
bc(a-1) ca(b-1) ab(c-1) ~ ¥

(a) O (b} 1

(c) 2 (d) 3




or all govt. exz | BYADITYA RANJAN SIR

Ifb+c,b2=c+a,c2=a+b,then

1 1
+ +
1+b l+c

(a) O \@/f

(c) 2 (d) 3

l1+a




or all g¢ PX3 » BY ADITYA RANJAN SIR

1
If a, b, c are non zero, a+; =18& b+; =1
Q?’
then (i)s (ii) s a+L
A (b) 3,-1



or all govt. exz | BYADITYA RANJAN SIR

11. If a* = (x + y + 2)Y,
a’=(x+ y+ 2z)?, then
(a) O

Y = (x + y + 2)* and
B o

(b) 1
(c) & 27 m/as




Concept of Value Putting




k= M of Vanapt - No-) gql
(@e1- 2-1=Q)
(@ - 2-225



Q+4b+C= 10

_2 +345
N+ =14+10



( Concept e{ Q+b+¢ =0
“_.8



or all govt. exz | BYADITYA RANJAN SIR

a o b*
12, Ifa+b+c 0, thenthevalueofa +b +e
a’ - be
(a) O (b) 1
s d) 3
\(9)/ ( ) % QQ-HDQ
¥Q"-ﬂ
= 14



BY ADITYA RANJAN SIR

2 — | _‘ 2 b2 2
12. Ifa+b+c=0,thentheva1ueofa +2 s
a“ - bc
(a) O (b) 1
dey 2 (d) 3
= 441+
s |



: or all g¢ PX3 » BY ADITYA RANJAN SIR

1l -1 O
13. Ifa+ b+ ¢c=0 then the value of

(a) O \Ib'(l

(c) 2 (d) 3

a’ - bc

b’ - ca

is




or all g¢ PX3 » BY ADITYA RANJAN SIR

18, Wat ol Ui tiewl fa2+b2+’°/
{ +b+c=
: a C then the value o Ty e
=
(a) 2 N
(c) O (d) 4 1+



MATHSEI): pr all g¢ pXd » BY ADITYA RANJAN SIR

Xyz
@Ifx+y+z=0then (x+3)(y+2)(z+x) =7?

(a) -1 (b) 1
(c) xy+ yz+ zx (d) Nonmne




MATHSEI): pr all g¢ pXd BY ADITYA RANJAN SIR

16. &+ b+ S=0
then(a+b-c)’+(b+te~a)’+(B+a-b)’="?
(a) O (b) 8abe ©
8(c)/Ha® + b + ) () 4{ab+ be+ 2a) -y



DURK or all g¢ PX3 BY ADITYA RANJAN SIR

@If Ifa+ b+ c=0, then

(a+b b+c c+a)( a b c )
-+ -+ + + is
c a b b+e c+a a+bhb

SSC CGL 6 June 2019 (Morning)
(a) 8 (b) 9
(c) -3 (d) O




MATHSEI): pr all g¢ pXd BY ADITYA RANJAN SIR

x’ +1 e |
18. If =X " find x
x+1 x-1

(a) 1 (b) -1
\j,e)/O (d) All of these




or all g¢ PX3 » BY ADITYA RANJAN SIR

o
19. Ifa+¥%=1,then a* + b -a®-b"-2a2F + ab

1S b= ]
(a) 1 (b) 2

(c) 4 N



MATHSEI): pr all g¢ pXd » BY ADITYA RANJAN SIR

=0 =
S 20. If x+ y=1 + xy, then@j/—)&f'is
(a) O by 1

(c) -1 (d) 2



or all g¢ PX3 » BY ADITYA RANJAN SIR

21. Iff& y = 2a, then the value of xc_lanyc_la is
(a) 2 N
(c) 1 (d) -1
- i_‘_ &
A X

= - j



or all g¢ PX3 » BY ADITYA RANJAN SIR

P ) O
22. Ifa+ b= 1, find a® + p*- ab- (a® - p?)?

(a) -1 (b) 1

ey 0 (d) 2
Q3 (Qz)'?-
- @G-y



: D : BY ADITYA RANJAN SIR

23. Ifaz+b2 2and c+d“=1,
then (ad- be)? + (ac + bd)? is

(OC)zz atc? =2x |

4 1
(a) 9 (b) >

(c) 1 2



W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

O
24. Ifa=x4%y, b=x-y, c=x4% 2y

then a%ltbz:_-qci }, ab - bc - ‘;‘;Q_ES
g* Tyt YT + 2%
(a) 4y° (b) 5%

(c) 64 N s



JUMF MATHSE]I: pr all g¢ PX3 BY ADITYA RANJAN SIR

dzbsC= L a b b c c a
25. If x=_—-+—, y=—+ -, z=— + —,then

(%en@y:z@ b a c b a c¢

what is the value of xyz- xX*-y*-22=7?

(ay~4 (b) -2
(c) -1 @) -6 CAACD




: MATHSEI): or all gc X3 | BY ADITYA RANJAN SIR

If a°b = abc = 180, a, b, c are positive inte-
gers, then the value of cis:

(a) 110 N
(c) 4 (d) 25
o AT )
® \Qb(- l&Q




b.:b:‘ |80

By ADITYA RANJAN SIR

26. If a’°b = abc = 180, a, b, c are positive inte-

Q

ger§',L thén the value of c is :

(a) 110
(c) 4

Q
A4b- L 921 b

Ak —
R
1)(1

N

(d) 25



or all govt. exz BY ADITYA RANJAN SIR

@ 1 1

27. If x = a+— and y = a-— then

a a

\/Jnc4 +y" -2xPyg" is equal to:
SSC CGL 6 June 2019 (Morning)
(a) 16a® (b) 8

/

© = (&4




: or all g¢ PX3 BY ADITYA RANJAN SIR

28. If x =2 -p; then x* + 6xp+ p”is equal to:
SSC CGL 7 June 2019 (Morning)
(a) 12 (b) 6

NEE (d) 4



v aP+b% cidabc = (a#brd) (@467 4% ab-be-a¢)
g 03+8>+C-6abc = (Q+2b+C) (@*+Ub?4 - 2ab —2hc -a¢)

3,13, a3 -
¥ Q74048C-6abe = (a4b+2¢) (R4 4UcZ —ab -2bc — 2ac)



W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

29. Find the product of

(a+ b+ 2¢c)((a® + b* + 4¢c* - ab - 2bc - 2ca).
SSC CGL 7 March 2020 (Evening)
a’+ b*+ 8c®-6abc

(b) a® + b° + 6¢® - 6abc
(c) @+ b* + 8¢c®° - 2abc
(d) a@® + b* + 8¢® - abc

-3X0axbx?2 ¢



or all govt. exz BY ADITYA RANJAN SIR

Find the product of
(a+35b + 2¢)((a®>+a b? + 4c*-3ab -G6bc - 2ca).

(a) a*9b® + 8¢ +9 abe
(b) a»11b® + 6c°- 18 abce
(c) a®*+t3b* + 8¢® + 8abc

“{d) a*27b® + 8c*-18abc



Questions based on
Componendo & Dividendo

Y

e
.7.' g
wll




D’widendo

Q- c
b d
Q - c
Q-b C-g



_(omponendo & Dividenolo

9_‘:(’
b




W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

%:% 30. IfE = 1—6- what is bt
b 3° a-b
Qth = 1643 =19
Q-b 6-3 3 17
(b) T3
19 21
(c) 26 (d) 73



¥

then,

Q&D

. = .5
d

b
@Q4b) - ¢
Q-p) CT.C;






















31.

By ADITYA RANJAN SIR

.’f@ @9d a

then the value of —

4a Ob 4c -9d b

can be equal to :

=

ab
(c) o




W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

X _._._3/2: ®+\/§ .
G \/2/ 32 If x_\/g —% find x
=) A = 3
- (a) 25 b)Y 3.5



: or all g¢ PX3 » BY ADITYA RANJAN SIR

an i _.a—b ~ b-c _c-a
' ‘ﬁ'- a+b’ 3",{—- b+c’ ‘jz:- ct+a

(1+x))<1+y )<1+z
1—;’ l-y/ \1-2
A x5
i 2 o
\Ye] 1 (b) -

(c) abc (d) O

, find




1 2510
- Q'tb taab
(0b) , ) TelGD ( ao. N bo_)_ 6

(@ab) 9

O 4b42ah - - 25
452 —2a,

D (a4hy
x 5 &
%1 = §s v& Cacry? =
-5 c— 5 "
— "'b -~ S

\\







BY ADITYA RANJAN SIR

x’+3x 189
If ™ T T R find the value of x
\(2)"9 (b) 6
(c) 8 (d) 4
M:R{ = I2¢g
""34‘3\( =3-\ L2 ey
9 (x4
+\\)“ !2-8
()3 Sy




- ar2ab + 30&‘91;19“5 = %4 3&2—%3)(31-12 35 M 3apib® © 3x’y+y°’ then % -
0 +3a8 - 3db-b> 3+~ Wty -y3 \J{x i}
5 (a4)® = (ky)? a b)
(a-h)>  (x-y)3 -
(c) b (d) None of these

x*
% = (0\~b)3 T A3-3 +3ahi- |2



36.

BY ADITYA RANJAN SIR

J3+x+V3 - x

o \/£3+x -J3 - x

S
(a) 12

@hen x is equal to-

oy 2




~x+l = {m+43n x  m+3n+/m-3n

2 (X-I'I)Q' _ M+3%n value of 2mx - 3nx? is :
(x-n2  ™M-3n \(3)/:; (b) 3m

2 d) 2
) (X‘l-l)q-']—ht-l)l# = m-l-'Sy{-l.m_fg 5 oy oy -
(x+ \)7-— (0 - I)'2 7';?“1 — PR - (=3n)
D R4+t
R -4

:)~ 34302 2
J) @_?@




x+l = {m+43n x  m+3n+/m-3n

-] T 37. If " Jm+8n —Jm - 30’ then find the
2 ,(i-l'l)q' _ M+3%n value of 2mx - 3nx? is :

(x-n2  M™M-3n (a) 3n (b) 3m

(c) 2n (d) 2m

3 A _ m

2 4%xx) 30

* (a+h)?

) 3m43n= 2my 48"+ (- 2 441 )

s 7 ¢ 5
) 3n:_’2mx-—%m 4y’ \a-k¥ = dab




MATHSRE]I): or all gc

By ADITYA RANJAN SIR

L 38. Ifx=_3 _,
ﬂ“’%é'f"—% (a) b
WJ\P

1

a =

IR CRl LR U L

Trom =5
I

find

.

~

Ja+x-Ja-x

Q/a+x+\/a—xj

(b) a

LF




=2ab =
3 Q=M D aEk = b2+ +2b
L 2b A-x  b*+1-2p
<) 84X - (b+)? (G -
A-n (b-N2 =) Voo LT_'D
9 Y am +{ox N
lan-Gx = 1
! Sy
Mo, T 5

38.

If x =

(a) b

exams )

2ab
b*+1’

BY ADITYA RANJAN SIR |

Ja+x-Ja-x
Ja+x +Ja-x
(b) a

NG %

find







® A= b find x40 4 axtb = (3)

QA+b A -Q x-b
® = 4ab ind _X+29 + x+25 - (&
a+b J N-2q9 ‘X-—zt B O
@ w = kGQb
e L € + X43h
-X-BQ 1“3!):
@ 2= _Sab




W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

4ab
39. If x= ; (aib) , then value of
a+b

x+2a x+2b
: & is :

x-2a x-2b
(a) a (b) b

(c) 2ab (g 2




W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

S8ab
40. If x= , a # b then value of
a+b

x+4a+x+4b.

x—-4a x-4b 1S
(a) a (b) b

(c) 2ab \(d) 2




fx_
= |2ab

Q+th

k’md

q
+ 1
b

w
6a
X
-
b

=) v



How 4v Solve 4his [)o_ni f0+\f5

1 = g2 ¢ t\'nd X

©.
fns =45+ > 2x3

Ex:\ﬁ-)-ﬁ}




O -
O -
-

- (542
\“H NI




or all g¢ PX3 BY ADITYA RANJAN SIR

/3

41. If x = ? then the value of

&
CG1L mains 3%:8
5.; q
V1+x+1-x) THRS
V14 x —1-x -
(a) -3 (b) -1

©) 1 ) /3



